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QUESTION 1

A systems engineer is tasked to configure a VxRail cluster and notices that the VxRail Deployment Wizard fails to
launch. The engineer discovers that the software is corrupted. 

What should the engineer do to address the issue? 

A. Use the VMware Host Client and iDRAC to access the nodes for troubleshooting 

B. Verify that the JSON file is not corrupted and has all the required values 

C. Return the nodes to the original build state 

D. Check vCenter and troubleshoot the build failure 

Correct Answer: C 

 

QUESTION 2

What is the recommended format for host names when using the VxRail Deployment Wizard for an External vCenter
solution? 

A. FQDN for vCenter Server Host name for VxRail Manager 

B. Host name for both vCenter Server and for VxRail Manager 

C. FQDN for both vCenter Server and for VxRail Manager 

D. Host name for vCenter Server FQDN for VxRail Manager 

Correct Answer: A 

Reference: https://www.delltechnologies.com/asset/en-us/products/converged-infrastructure/technical-
support/h15300-vxrail-network-guide.pdf 

 

QUESTION 3

What is a difference between vSAN Data-In-Transit Encryption and vSAN Data-At-Rest-Encryption? 

A. Data-In-Transit Encryption: Encrypts traffic between VMs and the VxRail nodes Data-At-Rest Encryption: Encrypts
traffic between VxRail nodes only 

B. Data-In-Transit Encryption: Does not require a Key Management Server Data-At-Rest Encryption: Requires a Key
Management Server 

C. Data-In-Transit Encryption: Key Management Server must reside on the vSAN cluster Data-At-Rest Encryption: Key
Management Server can reside on the vSAN cluster 

D. Data-In-Transit Encryption: Addresses fear of media theft Data-At-Rest Encryption: Addresses fear of rogue
administrators 
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Correct Answer: A 

 

QUESTION 4

How should an administrator manually validate the DNS readiness of a customer network? 

A. Run a traceroute to the DNS server 

B. Generate a Network PEQ 

C. Ping the default gateway of the management VLAN 

D. Run nslookup on server FQDN and IP 

Correct Answer: A 

 

QUESTION 5

A VxRail 7.0.100 environment is managed by the internal vCenter Server. The customer asks the implementation
engineer to deploy a new VxRail cluster using the existing vCenter Server. 

What should the response of the engineer? 

A. Not supported for internal vCenter Server 

B. Not supported on VxRail software 7.0.100 

C. Supported by neither the internal vCenter Server nor external vCenter Server 

D. Only supported on VxRail software 4.7.xxx 

Correct Answer: D 

 

QUESTION 6

DRAG DROP 

Match each VxRail API request with the information to be retrieved. 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 7

An implementation engineer is expanding an existing VxRail S Series cluster with an additional node. The version of the
node is not at the current cluster level but is compatible. What procedure would result in the quickest node addition? 

A. RASR Factory Image Upgrade 

B. Factory Reset 

C. VxRail Node Imaging Management 

D. Compute node expansion 

Correct Answer: D 

Reference: https://www.dell.com/community/VxRail/DELL-VXRail-2-node-cluster-and-expansion/td-p/7904218 
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QUESTION 8

A VxRail Test Plan has been completed. What is the protocol for recording the results? 

A. With the implementation team, complete each test and document the test date 

B. With the implementation team, complete and document each test, test date, and a screenshot of results 

C. In front of a customer, complete and document each test, test date, and a screenshot of results 

D. In front of a customer, complete each test and document the test date 

Correct Answer: B 

 

QUESTION 9

A company has recently implemented a popular date center monitoring and reporting software solution. They plan to
use the solution to consolidate reporting into a single platform. What is an expected benefit of programmatically
gathering VxRail information? 

A. Perform node shutdowns and specific operations 

B. Perform pre-checks for vSAN health 

C. Automate iDRAC firmware management and status 

D. Obtain status of all running operations on a cluster 

Correct Answer: B 

Reference: https://www.delltechnologies.com/asset/en-us/products/converged-infrastructure/technical-
support/h15104-vxrail-appliance-techbook.pdf 

 

QUESTION 10

How must node ports on Dell EMC ToR switches be configured when the Spanning Tree Protocol is enabled in an
environment? 

A. In Port-Channel mode 

B. In Forwarding status 

C. As edge ports 

D. As access ports 

Correct Answer: C 

Reference: https://www.dell.com/community/Networking-General/STP-Troubleshooting-Best-Practices/td-p/3979839 
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